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Note

1 Attempt all the questions and part of a question must be attempted
continuously at one place.

2)  Rough work should be done on the space provided for in the answer
sheet at Page-2.

3) Missing data, if any, be assumed but must be indicated specifically in
the answer.
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Ministerial Exam
Paper-I

(Works Accounts)
Describe i and project i i ion survey and
feasibility studies?
Describe general frame work for charging depreciation ?
e mrelddifeams mee w3 ferifset restn @ 3= =3 wafont
< ferayeea 9w fegT ey
Auret @ uaS fad gaw o1 A1 95 TS w3 e ¢

(10+10-20)
What is the procedure of rectification of error in the cash
book?
What procedure is to be followed for the safe custody of
keys of cash chest?
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(10+10-20)

What is the procedure for maintenance of Inter Unit
Transfers (IUT) Subsidiary Ledger?

What is the procedure for record and custody of U-Cheque
Book?

w99 gfse catnes ot RaiEhEt 3ve €t AT Hes o9 3T fed?
g 3 3m ¥ S s Hevs T Be bt 7
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Q4

Q.5

What is the procedure for advance payment of Traveling
Allowance to the employees. Also describe the authorities
competent to allow advance traveling allowance ?

FawEEhit % dnatt redt 997 ¥ w9 3 f5R w3 feg < R fx few Ut
3 ¥= mEtmEE miftat A= 75 7
(20 Marks)

(@) What procedure is to be followed for maintenance of Initial
Works Register ?
(b)  Give correct nomenclature to the following Account Codes ?

L 14.630
1.  24.501
1. 46.941
IV 57.120
V. 76.132

(©&  HeB Iawt @ afaneT I RiE Haws T B2 faftowr A 7
o) 35 Pefbart Wt ¥ et ST SR A 7

I 14.630
II.  24.501
. 46.941
v 57.120
V. 76.132

(10+10-20)
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Time allowed: 3 Hours Max.Marks100

1) Attempt all the questions and part of a question must be attempted
continuously at one place.

2)  Rough work should be done on the space provided for in the answer
sheet at Page-2.

3) Missing data, if any, be assumed but must be indicated specifically in
the answer.

)



Qi1 a

Please write down the rules regarding the retirement
age of different categories of employees of PSPCL

b) What are the rules regarding the grant of annual
and i

Q. 2(a)

)

of PSPCL

employees.
10410

8) WARBAAS  few D TR F Ty Aewd 2 T
& AT sfeedt @ B T Ade few gefest @ weadt
fe€1

) WATRAAE 2 T § o SH w3 AT T
ufrst S Vioge was WG Teest S weadt e 1
10+10
Please write down the rules regarding grant of
Commuted leave to PSPCL employees.

What are the conditions regarding service qualifying
for pension under CSR Vol.2

Determine the date of joining at new posting station of
Mr. X working as Store Keeper at Central Store, Ludhiana,
transferred to Amritsar. He was relieved on 27.4.2015 AN
and was having charge of 200 items at his present
posting station.

5+10+5
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Q3(a)

(b)

Calculate the amount of pansion and gratuity from the
following data :

Date of Retirement 31.12.2014

Date of Appointment 02.12.1985

Extra ordinary leave 11.1.90 to 25.4.90

Non Duty Period 2.3.1995 t0 18.3.95
Basic Pay as on 1.1.2014 26580

Next Date of increment 1.6.2014

What is the provision regarding the submission of
property return of different categories of employees.
10410
% forr Whet I Tows w3 TR A Faw = fonw
o R -
foefeate & ft 31122014
v few o 9z A Bkt 02121985
wraeE ¥ 11.1.90 F 25.4.90
o g et 3395 F 18.3.95
y& I B 112014 43 255807
et e SEft & et 162014
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W wes wdt fsone (ferr fsoem) & st fe€
10+10

Q4(a)  Please write down the Gradation of different categories of

(b)

employees for the purpose of TA and LTC.

Prepare TA Bill of an employee from the following data :

Head Quarter Ludhian:

Basic Pay 22500

Grade Pay 5200

Detail of Journies under taken by the employee for official

work during the month of Jan.2015

Travelled to Patiala by Ordinary Bus on 1*,Jan,2015 at 7.00
am and returned to headquarter at 8.00 pm on the same day.
Local mileage KM Ludhiana (5+5) and Patiala (3+3), Fare
Rs.150/-

2) Travelled to Amritsar by Ordinary Bus on 13" of the month
at 8.00 am and returned to headquarter at 4.00 pm on the
next day. Local Mileage KM Ludhiana (5+5), Amritsar (4+4),
Fare Rs.200/-

3) Travelled to Chandigarh by AC Bus on 20" of the month at
6.30am and returned to head quarter at 8.30 pm on the same
day. Local Mileage KM Chandigarh (6+6) ,Ludhiana (5+5),
AC Fare 400/- Ordinary Fare 200

- 5415
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What are the powers of different authorities to accept the
tender for execution of work by =ontract.

What do you mean by authority as per

Conduct Regulation.

What is the meaning of “Family” and “ Emoluments” as per
Employees Provident Fund Regulaticns.

5+5+10
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Time allowed: 3 Hours Max.Marks100
Note
1) Attempt all the questions and part of a question must be attempted

continuously at one place.

Rough work should be done on the space provided for in the answer
sheet at Page-2.

Missing data, if any, be assumed but must be indicated specifically in
the answer.



PAPER-IIT Roll No. i
(REVENUE ACCOUNTS) '

Time allowed: Three Hours Max,Marks:100

Note:

Attempt all the questions and part of a question must be aftempted continuously at one
place.

Support your answer with relevant rules and regulations.
Rough work should be done on the space provided for in the answer sheet at Page-2.
Missing deta f any may be assumed but must be indicated specifically in the answer.

Question T Marks

@ Frepre ceciiiy il of Large Spply connecion flig ot of Wil |
Liit from the following data for the month of December.2014 along wi
due dates for payment and applicale late payment surcharge faking h:l!
issue dn"( 1101.2015:-

i) Sanctioned load : 189.967KW/Contract Demand: 212 KVA
i) Supply voltage : 11KV
Nature of Industry: General Industry
Consumptions:
KWH 31164
KVAH 31804
moT 126.08KVA
v)  Meter Rent: Rs.469/- pm.
vi) _ Other charges as per instructions/rules.

1 (@) B-@ias et 3 ToT 02 e et Wiy o wdle TS 2014 ¥ fs ¥

it s B 11 e 2015 R 32 G 58 3 3 Be e HEGEH WIS 75

o 372 S fomrg ftar AR

I VmmE  : 180.967 BB werisedae s 102 AR
@ fame: 11 A

10

from the following data for the month of December,2014. along with due |
dates for payment and applicable lote payment surcharge faking bill issue
date 2.01.2015:- i
{)  Sanctioned load : 19500KW |
Date of release of connection April 2014 |
Nature of Industry: General Industry |
Consumptions:
KWH 2200 |
KVAH 2500 |
MmpI 18KVA 1 |
v) PSPCL's Meter particulars: Avon 3x10-60 Amp. Installed in PSPCL cup
board. :

') Prepare electricity bill of Small Power Consumer living within Municipal Limit | 10 ’
|
|

i) _ Meter Rent and Other charges as per instructions/rules.
18) SN R 3 nivs 1Y RS T I g wtar RS 201 @ L A
T s @ Bt 02 TR 2015 1 32 aedt 9§ S w3 e Uive FaEER ANE 05
4 72 v Ry -
T s e i
o w12 8 3t i 2010 i |




200 i ’
i 2500
| 18 32
I maE T ies ¥R vié?s1xm-anvmimawifanﬁmi’ |
i é W?? aaﬁ fies war 31 {
| 6. e faonn w3 e 33 wad TeERY i mE |
@) M/S A&A Linited has opted for TOD fariff applicable for the period 11014 | 8 .
10 31.03.15 its consumption data for the period 25.10.14 fo 27.10.14 is given | |
as under calculate the amount 6f TOD rebate and peak charges applicable l
for consumption(KVAHY:- |
i | Date Power drawn Time slab | ]
! i | |
2200 to 2400hrs | |
251014 23820 10120 12460 1240 ! |
1261014 34800 9560 24300 940 i
271014 32360 8744 22872 ] H
Wi EAE 2. feufem €5 1.10.14 3 31.00.5 37 AEH. éﬁzw@awmwi
14 35 8 vz @290 36 06 e 31 wzare § | |
| | szt 218,31, fonrfeg wid Satia i g & ame i w1
it |
i ; 0000 10 0600hrs  0600101800hrs  180062200hrs |
2200 to 2400hes
1251014 23820 10120 12460 1240 !
| | 261014 34800 9560 24300 940 '
i |271014 32360 8744 22872 744
- |
| b) What are the latest instructions regarding lafe payment surcharge?
Do )makmama@mﬁg%gwﬁ . 1
©) Calculate units fo be charged from a person who is found using un- |
' authorized direct supply hnvlng connected load 6KW for domestic purpose. | 4
¥ udg 93 88 o fadve 33 99 B Bt 39 @ @ ISt FuT &3 I § wew wws |
| G gvet € oer eR |
|
3 | @) Describe the officers who are authorized to issue orders (within their 10
i urisdiction) for isconnection of supply where theft of elecricity of prima- |
face esubihes.

smmmmm%-mwmwm

b) What are the rates and pracedures caleulating penalty for non compliance of ' ¢
peak load restrictions by LS consumer.
w1 SR RS g €% Ul 53 e 9 GRue § B2 Gar senE Y o

<) escribe the entitlement of the cansumer o run a part of connected 4




load/contract demand called restricted load without payment of
additioral charges.

®) A &5 dent F9w wSad § fagt faR TU werfedtt 3 w9sE G
fonfeaes 33 o3 o 721

a) Discuss: levy of octroi on consumption of electricity.

8) et wz 3 dre Tt et w3 i 727
b) Who is Con:petent to allow the payment in installment of
1) Arrear not originally billed
2) Current bills.
e 35 fid ant e ot oEt st w9s oEt 3 wiftares 37
{ 1 fifs & warfenr fint & ufost fufidar & 32t 321
! T3 fimi
I c)Describe the instructions regarding Change of name before actual
|

release of AP tubewell connection.

| & e wuzas o gdans At 9z 3 ufost &t aedt midt erfest @ wase
T

| d)Who is the load sanction authority in the following cases:-

| 1) For MS connection.
| 2) ForLS comectionof 500 kW

3) For Intensive Industrial connection of 25 MVA
1 4) For Industrial of 1500 KVA at HT supply.
{9 For comestic mectionsf 10 KW

wrﬂsﬂsﬁ?ﬁhwmﬂmwmmﬁiﬁ"
AR, T |
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a) Describe the instrictions regarding:-
i) Validity of Demand Notice period.
i) Extension of Demand Notice period.
iii)  Revival of cancelled AP application.
3 a3 It gerfest it wE:-

3) Je 3 et gdans oFt fuduse § uE HOAS a9s T
b) Discuss Annual Minimum Charges under Street light category
o edte srete eadt 3 RE ez wafont a3 faudt 331
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Note

1) Attempt all the questions and part of a question must be attempted
continuously at one place.

2) Rough work should be done on the space provided for in the answer
sheet at Page-2.

3)  Missing data, if any, be assumed but must be indicated specifically in
the answer.
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MINISTERIAL ESTT. (GENERAL) PAPE!

BOOK KEEPING & ACCOUNTANCY

Marks

1@

Why is it necessary to provide depreciation?
W g oot & feeme seat i@ agdt

1(b)

On 1" April, 2010, a firm purchases machinery worth Rs. 150,000, On 1%
October, 2012 , it buys additional machinery worth Rs. 30,000 and spends Rs.
3,000 on its erection. The accounts are closed each year on 31* March.
Assuming the annual depreciation to be 10 %, show the book value at the end
of 31* March, 2015, with suitable workings under:-
1) Straight Line Method; and
2) Written Down Value Method.
1 i, 2010 3 R ToH B 1,50,000- qu? F witadt wdteh 1
e, 2012 3 30,000/~ T F TG Mt w w3 3000/ TR
faaE 3 w99 13 a1 W 99 A 31 How § de oS A 1
FFT FEET WAE 10% I 3t Bfemrt 9 31.3.2015 § ot vz T,
RS T3 32R Is fendtrt fedtoit nigrre TeRR e
1) eI T Res
2) faes G o fes

10/

10

Ques.: 2

On 31" March, 2015, the Cash Book of M/s Thin & Short showed a balance of Rs.
2,760 at Bank. They had sent cheques amounting to Res. 90,000 to the bank before;
31% March, 2015, but it appears from the Pass book that cheques worth only Rs.
84,000 had been credited before that date. Similarly, out of cheques for Rs. 85,000
issued during the month of March, 2015 cheques for Rs. 2,500 were presented in
April, 2015, the remaining having been paid in March itself.

‘The Pass Book also showed the following paymen
Rs. 3,320 premium (on the joint life policy) according to standing instructions;
and

b) Rs. 5,000 against a promissory note, as per instructions.
The Pass Book showed that the bank had collected Rs. 6,000 as interest on|
Government Securities. The Bank had charged interest Rs. 50 and bank|
charges Rs. 20. There was no entry in the Cash Book for the payments,
receipts, interest, etc..

It was found that the total to the credit Bank column in the Cash Book on 20
March, 2015 was Rs. 110 short.

Prepare the Bank Reconciliation Statement as on 31 March, 2015.

R fas w3 Aroe < AR ¥ 31.3.2015 § 2760/~ uB Fafenr T It
A 8gt 3 31.3.2015 3 ufost ¥ %9 90,000/~ quB ¥ I iy TTEE
et 3N A, frgt RS 84,000~ uB ¥ Y7 Far ¥ wdfse 13 o | feR
33t 85000/~ U 2 I wafenrt BE wt A3 Fe It €t RS 2500/

R ¥ I wlm2015 e Bfwe A @@, wt ¥ waw RS Y
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a) 3320/~ QU & Agaz e ufedt @ weedt ufost @ Tefest]
nigFE 3 v

b) 5000/~ QuB & yIfiEt 3 & wrerfeat

uR ¥x 3 feg @ wentenr ¥ ¥a 3 6000/~ quB e fem Aot

ARGt F yuz dltFr| ¥ 3 50/- B T feorw w3 ¥ Safvw|

¥ 20/- quE wEw @31 3n g9 R fegt v A féew a4t &)

famrmi

feg & Mo fomor far A ga = T3foe ¥ T@ R 203.2015 )

110/- U Ul A

31.3.2015 3 ¥ FdFdHs Aodt 5@

Ques.: 3

3@

Distinguish between Errors of Omission & Errors of Commission.
iz s w3 MR nie afiEs S g9 ¥R

10}

HO)

M/s Nanda & Bose close their financial books on 31" March. Stock taking|
continues for two weeks after this date. In 2014-15 the value of the closing stock
came to Rs. 1,05,000 without making adjustments for the following:-
1) Purchases made during the two weeks after 31 March, 2015 were Rs. 5,000.
2) Sales made during two weeks amounted to Rs. 30,000, The firm makes a
Gross Profit of 33 1/3% on sales.
Find out the value of the closing stock on 31* March, 2015.
3 &7 v R g 31 wow § de a9 v51 fem it 3
e FEw 2 Te3 3w Wt offer 31 A 2014-1s R 35
niEFReRe ¥ fast aBfHa e & 48 1,05,000/- T 3
1) 31 H99,2015 ¥ e 2 TJefani @ nied 5000/~ uB & wdteed|
st ah
2) feR 39t 2 Tefamit ¥ vied 30000/~ JuB & feadt it et w3 ToH|
3 fexdt 333 18% T I wF Sfenr)
31 W99, 2015 § Thiar Fers & yw 1

10}

Ques.: 4

4 ()

State which of the following items should be charged to capital and which to

revenue:-

1) Rs. 13,960 expended on dismantling, removing and reinstalling plant and
machinery to a more convenient place.

2) Rs. 2,600 paid for removal of stock to new site.

3) Before removal to the new site a machine which stood in the books at Rs.
18,200 was found obsolete and sold as scrap for Rs. 6,000. A new machine
was installed in its place at the new site at a cost of Rs. 32,000.

4) Rs.2,200 paid for the erection of a new machine.

5) Rs. 25,000 paid on the renovation of the new factory. .Rs. 4,500 spent as

20|




Tawyer's fee to defend a suit claiming that the firm’s factory site belonged to
the plaintiff. The suit was not successful.
6) A car engine’s rings and pistons were changed at a cost of Rs. 7,500; this
resulted in improvement of petrol consumption to 12 k. per litre; it had fallen
from 15 km. to 8 km.
A building constructed in 1980 at a cost of Rs. 5,00,000 was written down by
2015 to Rs. 1,50,000; then it was demolished and a new building with 25%|
extra space was constructed at a cost of Rs. 20,00,000, including Rs. 50,000
for demolishing the old building.

El

IR Femrt TA-

1) uste w3 witedt § 8w & faR Iu mfeawaa 339 3 fa & FEus|
T 3 13960/~ U ¥IT A1

2) 2000/~ U AR § 5 FrEte 3 e ot wew 31

3) & mEe 3 fawle 3 ufost e fts & o gem S|
18200/-gu® A w3 wifedt warE Iz IO R § 6000/~ TR R
e fom1 e & wifts 32000/ U R et Frete 3 marfig
EiEil

4) &8 wits 2 fsmz 3 2200/- QU wew 31

5) 25000/-7u? &Y et & FefsaHE I TATE AF | 4500/~ YU TS|
g ot & e AEte T AW wEs wE AR a1 AR wes 3|
fomim

6) f¥x arg ¥ féms e w3 fumen 7500/~ B 9 wed a2 fem|
&% Yeds & Wz R 12 fadies yIt dies @ fomw & BUe)
Ifenrri feg 15 fadites 3 8 fadites afa famm

7) 7S 1980 R 5 S quB & v 6 fi fasfi v fsone ot
fomr fam & dhis Bfit R 1,50,000/-3u® & 3fo et A, 3|
wfonr fomr w3 25% 0w 5 o o fuofsa o Gmdt o=t
Tt frm & ahi 20 B R 3w R yordt faefdar § woz &
a3 50,000/ U F A 31

Ques.: 5 |5 (a) |Whatis the difference between an INPUT and OUTPUT device? 10
femye w3 migede fsedtn e ot zoar 37
5 (b) | What is the Central Processor Unit? 5
g, ot e 3
5(c) |What is an opening entry? 5
Wedt 3 ot 3w 7
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